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(1) (e)ffect (2) (m)atch

going window shopping

How do you like it?

She will buy the green backpacklone].

I should have checked the sales before buying mine.

(1) go (2) works (3) is

As he stopped exercising, he became fatter.

Most of the desks are made of pine.

As I'm too busy, | can’t help you now[l can’t help you now as

I'm too busyl.

(1) @, All of your jokes sound funny.

(2) @, As | walked along the street, | saw many cars.

As we grow older, our memory becomes weaker.

A number of parents want to see the musical with their kids.

[GIAIEfRH Nathang EQ1= 7+20] MZ2| 7tz H|iw5to] WOt &
Q7| HZ0l GIEEE A7 |2 23U

(1) wears — wear

(2) following — (to) follow

Soon after receiving the gift, he noticed that all of his furniture

did not go well with his new gown.
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Have you ever wondered why you've bought things that you

pp.55~56

don’t even want or need?
Let’s consider what affects us when it comes to buying things.
Why do | want to buy what my friends bought?

4 Jeff goes to the shopping center and sees a pair of soccer
shoes on display.
He recognizes the shoes at a glance because more than half of
the boys on his soccer team wear them.
Although he already has many pairs of soccer shoes, he ends
up buying another new pair.
We can use the “bandwagon effect” to explain Jeff's behavior.
A bandwagon is a wagon in a parade that encourages people
to jump aboard and enjoy the music.
As more and more people get on the bandwagon, others are
more likely to get on or follow it.
In this way, people tend to buy something just because other
people have bought it.
Why do | buy a pair of pants and a bag after | have bought a
new coat?
Lisa buys a coat that she really loves.
Immediately, she realizes that her pants do not match her new
coat.
So, she buys new pants that go perfectly with her new coat.
But she sees that none of her bags match her new clothes. So,
she buys a new bag.
Most of her money is spent on buying the new items to
complete her new look.
What made Lisa search for new items immediately after
buying a new coat?
The “Diderot effect” may explain it. Denis Diderot, a French
writer, received a new gown as a gift.
Soon after receiving the gift, he noticed that all of his furniture
did not go well with his new gown.
So, he ended up replacing most of it.
The Diderot effect, therefore, is the concept that purchasing a
new item often leads to more unplanned purchases.
Why do | buy things just because they are on sale?
Nathan goes window shopping and sees a pair of headphones.

/4 He checks the price and finds out that they are $200.
He thinks that the headphones are too expensive.
The sales person approaches him and says, “You can get a 20

percent discount on those headphones.”
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Even though the discounted price is still not very low, Nathan
decides to buy the headphones.

The situation described above is an example of the “anchoring
effect.”

The price mentioned first affects our opinion of prices
mentioned afterwards.

For example, if we start with $200, then $160 will seem cheap
in comparison.

Furthermore, as the difference of the two prices becomes
bigger, the effect will be more powerful.

As such, the price mentioned first acts as an “anchor” that
fixes our thoughts about the price of an item.

Just like Jeff and his friends, we tend to buy things without
seriously considering why we are buying them.

As these effects have shown, many things influence our
purchases.

The next time you decide to buy something, think for a

moment about why you are buying it.
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back, favorite, being, sunrise, it, to see, possible because
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best food, grew, ate, is, possible, Since, gravity, grow, How
Have, heard, send, used to, astronauts, it, to, less than,
what, taste

Look, universe, wish, could, feel like, actually

watching, documentary, seems, because, no gravity, float,
like, uncomfortable

Look, for, have been, interesting, while, possible, because,
gravity, wish, could live, ways, than

wish, real, start, flying, | wish, somewhere, entirely,

possible to, applied physics
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Is it actually possible to fly on a skateboard?
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folded running flying
broken closed

As | don’t know the story, | don’t tell you more about it.
As you don’t have enough money, you can’t lend me some.

As she is busy, | don’t invite her to my birthday party.

I don’t go to the beach as | don’t have a swimsuit.

She doesn’t sing a song as she doesn’t have her guitar
here.

She is walking around the garden with her baby on her
back.

If | were you, | would not see the movie.

The dog is looking for something with its head buried in
the ground.

If I knew how to do it, | could help you.

Judy listened to me with her eyes shining.

visits[could] — visited[can]

shutting — shut

can — could

putting — put

canlhad] — could[have]

with, tied with, crossed

with, restinglleaning] with, shaking

with, turned

If she got the right answer

If I lived in America

If you had time

If it didn’t rain

If she kept her promise

-t Step 2 pp.74~77
@ @ @ @ @
@ weren’t, wouldn’t trust ®
® @ had, would lend
with his legs crossed @) pointed — pointing

If I won the lottery, | would travel
to sleep with the light turned on ® @
@ @

If Earth had no air, all living things would not be able to live.
Breathe slowly with your arms stretched.

As | have a headache, | don’t go to the party.

The boy entered the house with his shoes covered in mud.

If I had good grades, my mom would be very pleased[My mom
would be very pleased if | had good grades].

with his heart beating fast

ot
A= TIf + =0 + SAL A ~, =0 SAe| A% (would /
could / might) + BAHYE -, HEHZ £20

BHOf Li7H HatH T Mg ALX| ok FIT.

with + HAHZZI0]) + BA(SA Y 20) = SA] SA (R0
7HHQ] MEtE LIEIE BAIESR, ~01 HEIE, ~5t &, ~5lHA 2=
2|0]o[Ct. with FHOll = BAIRE ZAM| #2474 2F0(H HHEAE 20

Ron2 IEE Hi2 X FEES AL

e} B EE HE0IL dY 27tsT EE JMEE I #0[= 7Y
+
=

0

HHad 9



IA‘H:H
FE A4
=0 + BAL A ~, F0{ + ZEAL] A S (would
could / might) + SAHEE - 2 FHIE a0t
fwith + HAZEZAO0]) + BEAHEXZ H0f), TEES 0|85t Fo{xl o
BIESHH He was brushing his teeth with the tap water
running.0| E22 O HMZE Q= 22 @ withO[Ct,
7 TAHOIA iFE2l besAtE F0{Q] =2 Q10| HAH S0l F2 were
E MO0z A HH ER YIZH= wereZt E0{7H & HIlj &2 =0
7t 2022 YI7H0= wereZt EXH{TITE
WL 7IHE IO, JEHE BERCE 578
« IS2 O{X| O[Al &=H| = gt
with + HAHEZ(0]) + BASAH HO{),= SA] SA(REUHEE)0[LE B
M0l agts LIE = BEMTESR, ~Q HEIZ, ~5F &, ~5lHA 2t
2I0]O[E. with FO| = HALRL ZALS| #A17t SSO0[H HIEALE 0t

N
Mo

rulo

Ho= uiH £ 1f 7hYY 20| 3F0IY My

=
e
A ZEO| FH0|H HEY EE2 SH22 &0 7t

o
IE 0x oA
-t—_' ro ok
N I Mo
r|r o2l o)l

[0

\1 ru

=,
"If +

~ oA

m

R

|

o
4
30

=
=

I'

MY BEE MUY ZH2R v & I Y 20 SHo[E HaYy

THE2 FECR JHYY ZEO0| BY0|H HEY 2 SHLR 20 7t

Y TAHOA iFEC] beFAls F0{2| 42t AHO| HAG0[ F2 wereE

ok |zt galsh| [[HErOH s JHE Yt — 117 GG

20t RE|= 148 YAl g AoILH)

® "with + HAHFH) + —-—M(E’i@. EO{) = SAl SE(FEOIL
B HEE UE=E EMTE ~Ql MEi=, ~3t &, ~oIHAY

2t= 2ojo[Ct, with Fol 2= HALe} —-—MOI A7t SSO[H HATHEAL
£ MO0 2 plewE blowing2@= TXO} $HTF,
SNt HIEl = HE0Lt 4 E7hse Y2 7HEE T M0[= THEY
A= TIf + FO| + SALS 2HE ~ FO + ZEAL UAHEWwould /
could / might) + SALAE - 2 HEf=2 AL
with + HAHEZ(0]) + BAHSA A HO{),= SA] SA(RUHEE)0[LE B
Q] Agts LIEI = BEMTESR, ~Q MEIZ, ~5F &, ~slHA 2t
2IO]O[EY., with F0Il 2= AL ZAI #A7t £F0[H UAHZME AL
&AL while Flole "$0{ + AL, 2| HO[ 240F BT,
SNt HIEl = HE0Lt Y E7lse Y2 7HEE T M0[= THEY
A= TIf + FO + SALS 2AE ~ FO + ZEAL A Wwould /
could / might) + SALAE - 2| HEf=Z 220
with + HAHEZ(0]) + BASAH HO{),= SA] SA(REUHEE)0[LE B
7HAQl dgts LIE = BEMTESR, ~Q HEIZ, ~5F &, ~slHA 2t
ol0jo[C}, with Fol 2= BARLEALS] AAT £=501H UAREALE L2014
SNt HIEl = HE0Lt 4 E7hse Y2 7HEE T M0[= THEY

A= TIf + 0 + SALY 2AAH ~, O + ZSAL BB (would /

could / might) + SALAE - 2 HEf=2 AL

fwith + BAHEZXO]) + BAHEZEZ 20),= SA| SHHEHAE)0[LL E
I A

7HHQl agts e = BATES R, ~0I JEHE
2|0]0[C}, with HO| 2= HALRE EALS] #HA 7L

SNt HIiEl = HE0Lt Y E7lset Y2 7HEE T M0[= THEY
A= "If + FO| + SALS 2HE ~ F0 + ZEAL A Wwould /
could / might) + SALAE - 2 HEj=Z AL

with + HAHEZ(0]) + BAHSA A HO{) = SA SA(RUHEE)0[LE
7HHQl Agts LIEI = BEMTESR, ~Q1 MEIZ, ~5F &, ~5lHA 2t
2IO]O[E. with FO 2= HALRL ZALS| #4174 £F0[H BAHEALE 0t
®2] ifE SA know2| SXOEE 0[11= TAE H&EA0[L, LIHX|= &
T 7P Do) HAPE FEAO[C,

fok 1|7t ZAlS FEHIH, = A TlZskK| ok dinl.

FF LWL 271 O{C] AF=X| QHHH L= 7RA 15 o Y|,

FOF 17} LIO|A| &SRR ST, L= &Y
Tk L{7F OFELCHA, Lb= Stutol| 7HX| 22 Elnl.

e rt
g 10 _|O

S

rg
d

O
o]

0]
&)
®
O]

o
il

10 381 b2zl

rfo

® U= 1470 of HEE ZOrEA| 2210

@] HIZh Holl =0 + SAL S HO[ A2 =2 HIZH=

ol= X‘LJ.\_A[- Whlle go[ PAPS O]-E_l-

pram — el

@ I U0l SAE 715 22 M LT,

@ 2&S 71 =0[ Hol.

XF
=]

Ao
o
e
I
ot
>

@ 01 T2 W7} XISEl= St @2l S0t Sirt
@ Y0ts H2E Yol 5T YS YAoHC

® 00l R2(0) T 2 M RULCH

b 2ES MY BYOR Y £ 1) JhYY 20| 3H0lH M8y
23y BYOR Iy BN 2N HaY By FYOR MO

@0 doesn’t haveZt EX7= A

ol .
® "with + HAEH0]) + BAEAF 20{),2 BMAENA with 1—|

F

0l 2= HALL 2AtS #A7 55
coming2 2 J1M0f ST},

® 7Y = TIf + O + SAY DUAHE ~) FO + TSAL UAF
(would / could / might) + SAFRE - 0| SEIZ AO2 stopsE

stopped® 11A0f SHCY,

AN} B ElE HEoILE A %7%

IAE IF + 00 + SAS] HAE ~

could / might) + SAFRE - 9] °1EH§

"with + BAHEZ(0]) + BAEHE 2

= 1=

7tHQl HES U= EATER

,

ZFEMQ| 1™ (would /

o e 7MY I #0[= JHEY
+
=

o|0jo[Lt. with FOll 2= HALL EALS] #A 7t +=S0[H HAZALE 220
=5

7@%Dﬂ%&§ﬂ%@QQMHMw7w

éﬁ
=
.+
fol=}
>
I
12
=

M+

719l

L oo

2|0jo[ct, with ol 2= %“‘MQ} —E—ME

e} B EE M0l ¥ 27ts

A= TIf + 0| + SALS] HAHE ~,

could / might) + SAFRE -, HEI2

[‘— 7|-X-Il:H

= P
+ &2 AL A (would /

fwith + HAHFA0]) + -E—M(%EP—*. 201 LE SA SHEUHE)0L
Al

7HEel HES U= EATER

2|0jo[c}, with S0 2= HARL —.-_—MEI H#At 5

LR

rar
~(0)=0]

shouldn’t we

headed

HEAH

A

~0]| =

=4

matched

connecting

=4lee]

going, talk, space

speed, able, another, blink
headed, one-half, light

for, expected, that

order, like, second

S0[H HEIHEAME 20t
pp.82~84

faster

L& ---5lAf ~olTt
expected

soas to

ALIB & & oLt
bent

A2

connected
existed

=520l 4= ~SHsHA]
As, nothing, than
that, possible
get, quickly

there, travel through



detects, sweet, bottom, from
surface, vast as either, around, or
Which, would, because, shortcut

such, universe

According to, researchers, connected, called

be bent bent, each, closer

take, dot, another ) flat, dots, another

take, fold, up hole, instantly connected
Like, may, connecting like, right

existed, hillions, away too, to, only

all, is "if, are, consider

unstable, flew, broken, pieces
pretty, hopeless through, simply, exists

debate, ongoing, eventually, how

back, achieved, things Who, be
TEr 21T p.85
T T
°3°-1H,-:| Al -:.:'-'a'ﬁl pPp.86~92
® @ ®@ were used to
® (cJonnect @ @
@ @ @
I wonder what it would taste like. ® @
your knees bent didn’t live, could see @
@ @ ©)]
with a map lying on the table isn’t, can’t build

L@ ® @
He thought that space-time could actually be bent.
@ QRO

space is so vast that it is not possible

@ @ @
the apple’s surface is as vast as our universe
@ @ @

If such wormholes existed in space, we could get to places
billions of light-years away quickly!
@ @ @

®= “YUE uigr o2t 2jn|9) Kolof AA0|T, LHHAE RE ol
of EA0[Ck,

@ 01Tt : HCt
®7tstt: 27t

@ float around: [MCHL Tk
@ o[ Ho[2| A= SH0| MUY H HYg dod == Qltt
@ U BUME E517] fIoiM Ul ZREIE A= €717
@ LE S=012 G0 E & Of et = QU

@ 017 30] HES MA AMEZ0] &It

® L7} L2 02 A|HS E0r2 QS [Iff Li= =3It

AN
@ bottom2 ‘M OfSRF0[2= 20jo[E2 FFHE0[C highestE

lowestZ HH= 210] ZEsSICt,
be used to + SAA: ~oh= Ol AFSE/CH
<O AXAENE W IR s3E HYd ASAHE0 S UL
(contain: @ ~0] E0{ UL}, ILSt5iCH
L AlLEE 718 )20 08 8 QU0 (persistent: @ E71 2
Q0] X|&E =)
‘THE OfH 240t HA5HHL HZEICY & connect(O[HX|EhHe] FHE0(0[CE
fIs it possible to + SAFAEE ~7,2 ~ot= 0] 7hsstl? 2= Q0|2
Ol UO[ ARIZ 7Hs8HAl 2= BEOIC,
I'wish | could ~.= ‘W7t ~& 4= Qo™ £20{ 2h= 20|12, TX] AtADt
QITHE| ALE A3 7 f“*"ol 719] gl HHE T A¥E LEHE BEOIC
© O| A2 MZo| 2= AMHEE

A7t
@2, JAS2 OLELH. W AFE —?——’F—OHM HU ez

® 3, U7 VR(7H SA) HEE M & == QIZE. Lh= U7 ARIZ 250
U= Aol =g 72k 40!
@2 @ J8e LEe dMa=R0L O dF, @2 20 @ A%
2 LIEHALY,
® be used to + SAHH: ~ol= H| ME=ICH
© less than ~: ~=Cf M2
SAb wonder® EX0{2 what0] 0|I= TIHAEE(QEBAN + FO + &
ADE 2Lt
® A7t SFTHIMAME M U7 HOHD X0 0[0] THSH BZH R&e| of
He ooz SHoH HOA] 4= Eo[ =e A0l MHHAHLD
(comfortable — uncomfortable)
SNt Bith == Aot 4 E7tstt e
U= TIf + T + SAE A ~, =0
could / might) + BAHYE . o HE{Z £
THOf L7t Aol 2fHetrtH, L= i=8 Z10[Ct

2 JhgE o 20 JHEY
+ A2 AL A (would /

Twith + HAHFA0]) + BMEHE 20f) = SA SH(EHEE0IL £
7HNQl ke UEUE BATELR, ~Q HEl=, ~3F &, ~olHA 2=
o|0]o[Lt. with FOll 2= AL} EALS| #AH 7t +=S0[H HAZAE 20
e} B ElE HE0IL dY 2UhsT B2 f%%* i 20(= 7+
TAE TIf + 0 + SAS] A ~, FO + ZSA| 27 (would /

could / might) + SAIAE - 2| YHIZ AL

fwith + BAHEAO]) + 5‘-*?(%&’—1 EOﬂJ._ SA| SE(ELMEhHolLE 2

0] MEtE LIEHE BARLE ~01 AElE, ~5t &, ~slHA 2=

2|Ojo[ct, with HO| @& HALR} —.-_—MEI A7t SSO0IH AIMEME, =5

0| DtAHEALE 2Lt

« 49| 747t T4 E mb7PHA T = 2| Jhet T QIch

=0 SUHE Z2 & Lhi= SME HUE £ 4= QIRich

SNt BITh == 8oLt 3 E7lset de 7HEE I #0[= 7HY

AE TIf + F00 + BALL| UAHY ~, FO{ + ZEAC A (would /

could / might) + SAIAE - 2| YHIZ AL

@ Twith + HAFAO0]) + BAEEE H0{),2] EATEAAL with ol
Q&= FALL E2Ate #A7F 5S0[H FIMEME XER dancingl2
OX{of SiCt

7Y olE TIf + O + SAY Y ~, O + ZSAY A E

(would / could / might) + SALRIE - 2| HER MO 2 5 HEY H17H

= would, could, might S0 E01Z & QU11, & WM BiZiol= 270l 2

TRISH SHE LEHE A wouldZF E0{7ICt

« DFOF LHZF AHZHH, Lb= WA 'dotrg Jln].

« 7 THEPS ) OFS T A,



with + AEH0]) + BAEHF 20{) = SA| SHEHL 0L 2
7HAQ1 Mats LEUE EAERR, 2l B2, ~5t &, ~SHHA 2t
o|0]0[LY, with FHOIl 2= FAIRL EALS] #AH 7t SSOIH HIEAME L.

A

Y BRS NEY TR U £ 1) JRYY 2RO 3O FY
o 230 HNOR Jhyy BN HHOH Ny 2R FHoR Al

z H

(QreF 27h HETI2bH, e AT EHe

717F OFLIZ] HE O, RRAITEe] HE XIS == glcth)

fwith + HAHZZ(0]) + BAHSXH

MRl MEE LIEHE BAHERSR, 9_1 HEIE, ~gF &, ~SHHA 2}

= 20|0[L}. 0| 0|83t 22| LE FABHH Nancy spoke with tears

falling down.0| E22 817t @0 E0{Z L2 @ fallingO|Ct.

® Twith + HAHZZ|0]) + BAZAA H0{),= SAl SA(FEUHAE0[L
E7tHQl agts L= BATRESE, ~0 ME=, ~5 XY, ~HHAT
2t= 2|0]o[Ch, with Flol 2= HALeH EAM] AL 2=50(H DPEA
£ MO closingS closed2 1IAOf STt

@ ORIEIRI0] AlZtat Z71H0[ AAEO] QA IRE AlS7Ho(at £
Che LEO0| &= 0] gxeoz “EolE o2k 2l0|9f separateE
HAAE'0[2H= 20|12 connected E2 2 HILE Z10] S24 HH6ICt

SAt thoughte] SX0E HAFE Z&AL thatO| 0[TI= HE M1 that®

9 SAE ZFAUL e EHE £SHIQ "ESAL + be + UAHEALS F

B2 AL}

@ ZSMNE HL0L £ £ 21252 cand be able to= 11X{OF STt

‘HIECHHE A2 gitY2k= ojOjo[E 2 ‘Jlo] 7hat w2Cl 2t= 2|o|e] B

§o2 HHY & = QUCt,

so + HEAL + that + 0| + AL~ HE --5iA ~SICt

© spaceship2 FlOIA =A5t= HPEAZE ZH-SILE (be headed: (B
= wsto &) S50}, 740

@ be expected to + SAIEH: ~& Ao 2 O A =Tt

@ H3t ‘Passengers’ O A 2FH2 o] £ 0| Hito 2 ofStofy JiC

@1%% F °“0ﬂ EHOH 0[0F 15}1 Lt

L=
i —

5, B uojol ABE Gl AN B, G 24 FOIS
Aw g¥oR MLt
SfoAE 2 A
@ Iy
IO

® f2= 0t 20] L3I0
@ o] A&z M S 2Hote Aot
® s Tds g AR
as + HAHEAL + as ~ ~gHF - GHaPA] (215 Hli)

either A or B: AL} B & & 6Lt

think, believe, guess, imagine S 22 SAIS| EX0 2 7IFOEE

0] & 82 7IHQZEQ o EME X U A2 2 O[FEiCt (YZAF + do

you think + Z=0{ + ZAt ~?)

@ HFZ BHO| ZEE SO0 0|55k 410] o QIEsict
C

M2 + 8l

o[ =0

rir

L&

rlo
!

E

7P oAt ~
o + ZEAL| A AL
get to ~: ~0f =E[=AHGICt

billions of: #4919

all + =0 + need to do 7t {2 AR =2 HO{0] toE et AL

AL E 2=

rot

o 2

ot

o

HLE TIf + 0] + SAL 1A ~, =

3 BlEE 0t

ts3

o

+

rio

12 | 38 HIA_ 2T

a9k

Who knows?: 7t 20I? (= Nobody knows.)
@ HEL2 EQEGHA 2340 1 2l 2 O | AMEZE 4 QL

Chal gHCt
O HE2 12 QPR Zo[Tt, (X)
@ HE2 HY 230 =St (X)
@ DFSIAE2 O 0|4 2E| thell EE6ER| =Lt (X)
® 227t g&E Yriske 42 E7tssitt (X)
i Alsl. 1003 L1al Step1 pp.93~97
(c)elebrate )2 @ @
It must have been tough for him. @, ® ®@
@ @ ©] @

If she liked me, she would give me some chocolate[She would

give me some chocolate if she liked me].

@ don’t sing, can’t @ ®@,®
® going © broken @ to find ©) @
@

wormholes in space may contain two mouths, with a throat
connecting the two

@ ®

As we all know, there is nothing faster than light in the
universe.

&) )

5t WAE I EHoIILE E72 Y& SIE = celebrate(F5tsiCh
9 HHE0[0[Ct.
@ 210 F|0{Zl ZHo|D2 FAt got FHOl 52 LIEIL= IAHEA} 20}
SiCh SAL bend 2| ZEAHEALE bentO[Ct,
@ I APt LR BRAE I JlH= SARICE
@ Brown M= Of0[E& TNE [} F&F5t QILHAIE JEX|LL QIC
@ 2IAIRI0] HN|2 EXfch=Als OFFE B2Ct,
® K72t Bk ALO[2] 2= ol
« 19| 0|22 U2 USIKHE s A= QUL (theory: @ 0[Z, 5HY)
< OrE0E Aol #st 528 A7 S0 UL (contain: ® ~0l &
Of QUCH HLEHSH
Fdo FHE K72 S 012 H|=5ICk (gravity: @ 53H)
2= HUE Fokr] Toll e 37% EHsHoF EtCt (measure:
M)

-IOI:l

I

I
must have + 3}71—‘?'—M1 ~Z0[ EFelct
I wish | could ~&= ‘W7t ~& == QI0H Z210{ 2= Q0|2, TX] AtA
op ST 2LE A 7%“*" [ 719 gl= HIE B 9IS LIE=E B30
Lt RAF EHO 2= How | wish | could ~!, ~ would be a dream come
true. O0[ QALY
TH| ARz 30| Qs S0 717t 221X| AR

THI%‘APE 287E 230 QAL (X)

LTHHALE F2 7HHERICE (X)
@ FH2 MAA Hato] Jgks 01E = glth
® HXt= XF0IM 717F - 2= U= tgb,gO[
I wish + 748 D7(F0] + SAIS 2
O[Lt 0|27 BlE A YO ThEt RZUO[L} OF S-S LIENHLY,
fwith + BAHEAO]) + 5‘-*?(%&’—1 EO{)J‘: SA| SE(E LMoL 2
7HXQ1 MEtE LEHE BAE S

~Ql HElR, ~Bt &, ~olHA 2=
o|njolct, with Fof 2= HARL —E—Mﬁl HH 7t £-SOIH AHREME 220

_t_
m
=
rir
el
>
1o
>
e
THI
N
or
rot
ne



SNt BITH == AgolLt ¥ E7tse e 7HEE I A0[= 7HEY
A= TIf + FO| + SALS 2HE ~) FO + ZEAL UAHEWwould /
could / might) + SAIHE -2 YHIZ 2ALCH

f'with + HAHEEO]) + EAN(EEE 20{),2 BAFENA with Foll 2
= HARL ALY EAI7t SS0[H FTNEAE, £S0[H UHEAE £20F
(A FAREZA] #A7E 58017, (B)2 (O #5384 #A0|C

< 9| w2 UHE0[HA = JHE BT

= JHE =0[0 L0 A AACT.
=0 o d
= x =

e} e HE0L 4 2Tt PE JMEE I 201 VY
+

Ate] AE(would /

oHI

could / might) + SAFES -, HE|= A0
@ "with + BAEH0) + BAHEHZ 20{),2] FATEZ0N with F
Of 2= HARL BALS] AL S0 HEAE 282 foldingS

Y BEYE AAY ERCR HHY & I Y ER0| SE0[H Y

H ZH2 FECR VY ZH0| EE0H Y ZH2 SELR &

(TreF HI7F L2 E AT, e thE|ol &7 4= g Hinl. — We 2y

£ T HE=X| QOtA] thE|of F7He 4 gltt

@ YME SO0 E7tscl HAEH B2 ASS L7t O[RARACIT
ooz HEs ol & HAshk= A0 7HH0[ Sl=rtof tist HE
ofl THEt SEA0I THE0] MESICE (— | wouldn't say so0.)

T S0 T XHAl0] ot HE ERlole BHCZ right?E € = U

OO 0l B7IO|EEL R HhE 4= QT S0H,) & EX0[ beSAZE 401

SEE0ER HIISIZEE isn't it? 2= {20}

® MX|AL before| ZX0E SHAE MOF ST,

© crushed?t HE HAO[EZ break®| UAHEAIEQ! broken2&E THO}
SlCt.

@ the one2 +AISIEE HEAE Y toRHALZ TXO} StCt
HE2 IR QS 02 @2 0] 22| I YXIGHK| =D
@9 that2 SAKT) figured out? S2X0{EE 0|I= PAFE F&A0[T,
@2 that2 HOEES 0L FAFE FEA0[CE O ‘TA 2h= 2j0]e|
BEAL @2 4 gAWEA, @ N ~'2te 20|19 AAHEAL G A
1, X AP o[2h= 2|0]9] XIA|THHALO[C,
O He I8 B2 Ee2 B3 & HU?
@ 19| e =i IL7|5HK| g Zolot,
SHolA Dot E X1 Q= AHE
@ e BXHE M0 Qs M AEE OfL?
® M7 A Y= M ARO[ Ul FRERISL?
® "with + HA + EAL, FEI2 BN ES LIEHHED], 2014 $0{2]
the dots@t EALS| BATL =S0(2 2 DHAZEA L HHEsICt,
© HHE +and ~ --oHa2t, Z2{H ~& Zo[Ct
Twith + HAL + BAL SEHIE 2HAE0[LE 274801 AMEls BALSH=E|
ol0j&h =021 a throat Tt EAIS] HATL sS0|22 HIEALE AL
@ OfQI+EII2 AlZ7H0] FE2{E 4= QICHT MZISHTE
LZ=0= XE40[ @it (X)
@ MZ e HolX = BEE2 O 70| Y& == glCh (X
@ W2 U= gE0[ EMSCH YA ph=Ch (X)
® T YER EWILEE = UL X)
® ‘ANAl B2’ 2= 2019] from A to B EEY7} E|0{0F 3122 to the
bottomO[ &EslLCt,
as: @ ~(0[)=0[
-thing2 & ELh= tHEAE SEATt FOIA =4S than F{0il H|w T
MO oD HEA fastE H{Wg L= £2L1
®0l= TEA'2t= 20|19 HAf that, ©0l= A ~'2t= 2012 XA|@E

At thatO[ =E3]Ct,
@ UZI0] LF0IA 2HSLH| O[FE & A= L7+ LOIAIE Of F0A

Qt 2 oirt,

O LF0AM 71 2 Z2 FAe7F? -
@ Y3t ‘Passengers’ A SHES LOMLE @8 FE X=71 — 1204
@ HE| A Atzt FH2 HOfLE 2717 - 22[2 RF0S0[Lt ST

26
2o
® 7t At ZEH2 2 0[F517] flaiM=
ZE27h -l 79 ot = o[Fohs A

Ol 25 {dEish= 20| o

(52 g ooy g0

tough ©) @ @

is it possible to grow vegetables in the space station
@ ®,® @

with both his legs broken ©) @

If you studied harder, your parents would be pleased[Your
parents would be pleased if you studied harder].

@ @ @

Punch a hole in the paper and the dots will be instantly
connected[Punch a hole in the paper and the dots will be
connected instantlyl.

@ @ @

the worm can either move around the outer layer or down a

wormhole

@ @

If a spaceship flew into one, it might be crushed or broken into
pieces.

@ @

eventuallyﬂ fianllys ‘@=¥0[2t= 20|92 Roj0f A 0[B2 YZt=

‘BIE o2’ 0[2H= 20|12l difficulte] 820191 tough7t & SICt.
Qe ZO[LF TH2 o 9 Lt oo s EE'2

layer(&, @)el YGEO[O[Ct,

O Jde= 20 ol 5y

@ 7171|E 2SS H@or] Ko me{=alc

‘2xlg 97

®Idue o g2l 25 Y1 AL
@022 222 uls X0 tsh =€ ALt
@K} 201 2 2|0l &2 = Ho[ AU

b ;
=0 HOtLt 22 Ho[ U7 (universe: @ 2F)
. sf*"o ENOILA] 4EHR) HOIEl HAOILE (planet: @ &)
« 71 9] I210f Tt CH2 0[20] %EF (theory: @ 0|2, 5t4)
< e EMHoR SRS A Lt (unstable: @ E2FEEH
7|7t =0kA 7‘._|-_r1§0[ STE of= Ol 71X §iith= WE0[22 BiZH
= LH7F ~& = QIOH Z£210] 2= 0|2, SR Ataln} BITHE 2 LE AE
7ts40[ 719 E HIE e A 2SS LEILEE B39 | wish | could ~.7t
M5}t
fls it possible to + SAFRE ~7,2 ~ot= 0] 7hsstl? 2= Q0|2
Ol U0 HRIZ 7HsSHAl 2= BEOIC
®© @ sinces ~ MR 2H= 20/ HHALR XHCE O@GE ~ 0]
S2'2he 0|9 J&AL @ 1 0[F2'2H= 20]e| HALR ML
O de S 0[F F JHX| Al Ttk
@ JEEs 2Eo| Me Myt 20|32 B8 20X § QI
@ U7t L 22 Hel EX 7] E0| Lhs 1R 371 HC



@ L=

H =gs =t
7Y A= TIf

(would / could / might) + SAMRE - |
beSAlE FHE| =2} 21

S Cid mRE 22
52 (RS WRE JH S AT
+

help( MNASAD + ZH0]

M7 49U},

S{2 HOl(oRHA | SALHE): ~0] -5He

+ 300 + SAS TAY ~, FO + ZFAS Y
o HEf= M=, ol iFES

ol A GOl =2 wereE 20t

AU BE =5 F40l| FALE #0F,

B: LH7} 42t I3 KIS oF 5t 740f,

Twith + HAHER

9l MES LEHE BARE
o[jo[c}, with o @&

)+ EAt %&*7—1 0f) = SAl SR(EHAZ0[L

2, ~Q HEl=, ~8t &, ~olHA2h=
HALRL BALS] HA 7L =S0[H THAZALE 20

@ 7Y SRS Ny BROR HHY 2 1) JHY 20| o[ XA
¥y

MBS BYOR 7

H TCoL To

f=3
= H =
W 20| HHOH Ky B

_,_

o Ixoa M

(=] oo—

C}. M2k buyE don’t bu yE TIR{OF SiCE,

Twith + HAHER

7HNQl dEe LEUE BAIEC R, 2l HEl=, ~8
2|0jo[Ct. with Ho| 2=

)+ BAHEAZ Hof

=

= SAl SAHEIYE) L 7
X

3

ALRL BALS] HA 7L =S0[H HAZALE 220

A
e} SEE HE0IL dY 2TtsT 29S8 JMEE I 20(= 7Y

=}

A= TIf + =0

could / might) + SAHREE -,

Twith + BAHERN

I HEE UEIE EATES
Q|0jo[ct, with FHoll 2=
==8

O[H HAEAE

+ SR Y ~, RO + EFAE] AR (would /
o HEj= AL,

)+ BAEHZ 20)),= SA SHEUL 0L &
2, ~¢ HEl=, ~Bt &, ~olHA 2=

ALRL ZALS] HA7t SSO0IH HANEAL

0

E

E
rulm

+ I Y20 HRIES M3 X YC,

=
* Daivd2 22 7 A X2 AUUCE,

@ folde Horaks ojojoz g
Ch 22 Hii= 0] AEsiy,

AHE0[9| spread(CHE bend(FEE

® bent — be bent

@ is —are

HHE +and -~ -

IEA[—jl. 0] Q= %X}_O_l /\EEH: =

270 RIZYL &

=21
- ORI EIRI2 SS 243

o

=
CEWEEES

izt 2™ ~& Zdo[ct
SAL + be + 2tHEAL

Aot =71 (X)

W=7F — Z7H0p AJ7H0] HEE|of QICh= A

s AlBTO[ T = o[ HoOfE? — Alstel M2 el 20N
U= BES0[ LAY H 7L,

- 2271 LE 2ol AL 2|07 F& Lol 4 (X)

- HES FUHC) s gEse AR FAY - =7Y

@ ZF0{7hit0[1 SAL detects®t SELA and2 HE FEEN Qe
= 3913 H SARLE JTXOF Bt (— wants)

@ PFO0IA JECE O WE A2 QoA 227 2o 2 K{dS SITHH
CHE eiH0il = ZEIE ALo[o =EE 4= ATE WE0[ &= A0 este
B2 gIZHf= “TI2A 2hs 2018 so7t 2SI,

©® Fe0| Lh2= 342 Yo] £=0| o2 0[F5l LHE o] o
< e] =Eolof o}II'F_ SAES 120H0[2 W2 AU SU HE X

0] &

7 s W0l ==

butO[ AE3a}ct.

L=
ototo oz HIZI= ‘JELbaks oO|9)

either A or B: AL} B & & 6Lt

(B) FatolM THE

So—

siMOZ Sksl= 2FM0[ 120EH0] H2ICtT ooz
(o]

o
U2 AIZI0| BRCH= 22 & 4 Lt

(A) 7HEE D= TIf + 30 + SALC| S ~ FO{+ &
LC2 MOR UIZ|E SALR] DH71#0[ A FEsiT,

SAEH -

(B) too + EHEAL+ to + SAMHE: -

Q) how to + SAHA

14 38 Hl_

SAS| TR +

51710 4= ~5t

3: ~os Y

ZIX|9}
O — -

A n
AM=—01 =LH1I
Fl Ao E

TP DEA(DIOF ~2bH - BHEIT|): If + 0| + SAL UAHH ~ 0 +
ZEAS A + SAEH -
break into pieces: tHoEARZE LICE Of2] R2Zte 2 EAX|CH
O @2 A&S UEE SMAR0[CE OGs g8, 0= 48, 0= 2
S LIEFHALCE,
@O Ltz OF LY XIS SR ZRICH
@ W HLCH] 7t 2 &o] YUL?
® 22 oS HEE YO E ZHal iCh
® Lb= U FOH MHE Mol =20 gt
® JdUEE 0[0] A7{X|S L
@ YEE 7| &E 0[RE 0] 20Al & = it

= =
O g&2 OlEY 2= EMsh=7? — J2EL.
@9 s &S S| T B2 A& LAsHof k=7t —~ &0
i =eIgsh| WEO[L
@ SFH0 E2 71 oA &7 — BEAX| AL HMZZJ0] F 4= QUC,
® EE0| et =2 Bt — |He| et So[Th

pp.103~105

(e)xploration

for a second

® 16[sixteen] times a day ® every 90[ninety] minutes

I wish | could float around like an astronaut!

Because some companies have applied physics to create

flying skateboards.

(1) doesn’t snow, don’t go (2) don’t do, don’t get

She was standing in front of the mirror with her hair falling on

her shoulders.

(1) were, would invite (2) went, would not be

He started to work with his sleeves rolled up.

If you sold an invisible raincoat, you would earn much money.

(1) ©, She looked out the window, with her arms folded.

(2) ®, Your mom would be happier if you phoned her more

often.

with one eye closed
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(1) |olAIERH | could spend all summer in the water because |
don’t like hot weather

(2) |GAIERH | could drive a car because | want to give you a
ride home every day

(3) IAIEICH | could travel around the world because I'd like
to experience new culture

) |[AIAEH had enough money, would buy him[my brother] new
sneakers

(1) with his legs crossed (2) with (the) music playing
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Hi, science fans. Today, we’re going to talk about space travel.
As we all know, there is nothing faster than light in the
universe.

So, if we travel at the speed of light, we should be able to get
to another planet in the blink of an eye, right?

That would be nice, but space is so vast that it is not possible.
In the movie, Passengers, a spaceship headed to a different
planet travels at one-half the speed of light.

So it should get to another planet very quickly, right?

But, the passengers sleep for 120 years because it is expected
to take that much time to get to a different planet.

120 years? Wow, that’s a long time! Is there a faster way to
travel through space?

Well, in order to answer that question, I'd like you to think
about this apple for a second.

Imagine a worm is on this apple. It detects something sweet
at the bottom and wants to move from the top to the bottom.
For the worm, the apple’s surface is as vast as our universe.
Now the worm can either move around the outer layer or down
a wormhole.

Which do you think it will choose? Well, it would choose the
wormhole because it is a shortcut.

Is there such a shortcut in the universe?

According to some researchers, yes. Einstein figured out that
space and time are connected, and he called it space-time.

He thought that space-time could actually be bent.

When it is bent, parts that are far away from each other are
suddenly closer.

To understand this, take a sheet of paper and make a small
dot at the top of the paper and another at the bottom of the
paper.

On a flat sheet of paper, the dots are far away from one
another.

Now, take the paper and fold it with the dots matched up.
Punch a hole in the paper and the dots will be instantly
connected.

Like this, wormholes in space may contain two mouths, with a

throat connecting the two.
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Just like a wormhole in the apple, right?

If such wormholes existed in space, we could get to places
billions of light-years away quickly!

Yes, but it's too early to celebrate. Wormholes exist in theory
only.

So all we need to do is find one, right?

Even if we find one, there are many things to consider before
actually going through one.

A wormhole would be very unstable. If a spaceship flew into

one, it might be crushed or broken into pieces.

[

Ouch! That's not a pretty picture. So, are we hopeless?

Is traveling in space through a wormhole simply an idea that
only exists in theory?

I wouldn’t say so. The debate about wormholes is still
ongoing, but with persistent exploration and research, |
believe we will eventually find one and learn how to travel
through it.

Look back at our history. We've achieved so many things that
seemed impossible at first.

Who knows? Maybe you can be the one to find the answer!



07 Spend Wisely

ol

THET

LSO, 22 Flol

~O|7 T2 E s B
HHRCH W A|SHC

2{of

HIZ ~O[R|2, ~0%= =5}

Esict

7 B l=, 2 R0
E:3

p.2

rir

(hz40])

O
T R

fi2{c
BE7|0}, =gt

)

.
5w )
2 2 U

Bl
AHZ DAL, HOtRE

LOFAR| L}, LORELE

~2F f{E2[Ch; LR[S Algh dd

discount

furniture

suit

explain

concept

half

purchase

~2} (&) ofea(ct

~0il &5, ~Of THaH 2ok
~Sh= Ag0[ ATt

2= ~ok =t

:Hil-

1

immediately
guality
convenient
behavior
effect
parade

deal
describe
overheated
wonder

~2 7|55t

AE ~5lE H| 20t

pp.3~6

help, with, try on, How, like, suits, in, get, Here, take
Welcome, looking for, among, How, you, than, take

new, a few, like it, convenient, anywhere, quality, long, last,
doesn’t, long, pretty, anyway

uncomfortable, wrong, tight, try, before, have tried

going to, join, spent all, allowance, Didn’t, get, How, should,
kept track

get, like, on sale, released, hasn’t, having, year-end, full price,
selling, discount, have checked

laptop, How, like, happy, wrong, makes, gets overheated,
read, ask for, give, back, for, calling, explaining

May, like to, How do, quite, that, one, striped, simple, take it
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2 Hi, can | help you with anything?
:Yes, can | try on that cap with stars over there?
> Sure. How do you like it?

: The design is nice, but | don’t think the color suits me. Do

you have it in black?

:Yes. I'll get one from the back. (pause) Here it is.

: Great. I'll take it.

: Good morning. Welcome to Kelly’s Sporting Goods Store.
: Hi, 'm looking for a backpack for hiking.

:These two are popular among hikers. How do you like

them?
The green one is lighter than the blue one. I'll take the

lighter one.

: Great choice.

T Hi, Luke. Is that a new speaker?
*Yes, | bought it a few weeks ago.
: It looks cool. How do you like it?

. It's convenient. | can take it anywhere and listen to music.

The sound quality is good, too.

: Great. How long does the battery last?

> About 2 hours. The battery doesn’t last long.
: That’s too bad.

> Yeah, but I'm pretty happy with it, anyway.

: Oh, this coat is too uncomfortable.

Why? What’s wrong with it?

:It's too tight.
: Didn’t you try it on before buying it?

*No. It was my size, so | just bought it. | should have tried it

on.
Hey, Eric. Camilla and | are going to watch a movie. Do you

want to join us?

2 I'd love to, but | can’t. I've spent all of my allowance for
this week.
Didn’t you just get it a few days ago? How did you spend it

all?

: I'm not sure. | should have kept track of my spending.
- Did you get a new phone, Jamie? It’s just like mine.
:Yeah, | got it last weekend on sale.

: It was on sale? But it has just been released, hasn’t it?

: Right, but the store on Green Street is having a year-end

sale.

: Oh, | bought mine at full price!

Really? That’s too bad. They're selling them at a 40

percent discount.

. | should have checked the sales before buying mine.

T Hi, Riley. | heard that you bought a laptop online. How do

you like it?

2 Oh, I'm not happy with it.
: Why? What's wrong?

T H e 17



W: It makes too much noise and gets overheated. | should described above, example

have read more reviews. mentioned, affects, afterwards
M: Oh, then you should ask for your money back. if, seem, comparison
W: The online store won’t give me back my money because I've as, difference, bigger, effect
used it for a week. such, acts, fixes, item
M: How about calling the online shop and explaining your tend, without, considering, buying
problem? As, shown, influence
W: Yeah, | think | should do that. buy something, moment, why
M: Good morning. May | help you?
W: I'd like to buy a T-shirt for my sister. She’s eleven years 2
old. Have, you've bought, that, don’t, need
M: How do you like this red one? This character is guite consider what, when, to buying
popular among children. Why, to buy what, bought
W: Well, she doesn’t like animation characters that much. Can goes, sees a pair, shoes
| see the blue one? recognizes, at, glance, more, half, wear
M: You mean this blue striped T-shirt? Its design is simple and Although, pairs, soccer shoes, ends, another
cool. use, effect, to explain, behavior
W: Yes, | think my sister will like it. I'll take it. wagon, that encourages, to jump aboard

As more, get, others, on, follow
way, tend to buy, just, bought
Ho pair, pants, after, have bought

i pp.7~18
buys, coat that, really loves

1 Immediately, realizes, do, match, new
wondered, bought, that, even buys, that go perfectly with
what, when, buying sees that none, match, clothes, buys
buy what, bought Most of, is spent, complete
shopping, pair, display What made, search, new items immediately
recognizes, glance, half, wear effect, may explain, received, gown as, gift
already, pairs, ends, buying receiving, noticed, all of, furniture, go, with
effect, explain, behavior ended up replacing, of it
wagon, encourages, aboard, enjoy therefore, concept that purchasing, leads, unplanned
As, get, others, on purchases
way, tend, other, bought buy, because, are on sale
buy, pants, after goes window shopping, sees, headphones
coat that, loves checks, price, finds out that
Immediately, realizes, match thinks that, headphones, too expensive
that go, coat sales person approaches, can get, those
none, match, So, buys though, discounted price, still, low, buy
Most, spent, complete situation described above, anchoring effect
made, search, buying price mentioned, affects, opinion, mentioned
explain, received, gown, gift if, then, seem, in comparison
receiving, noticed, go well Furthermore, difference, becomes bigger, effect, powerful
ended, replacing, it As such, mentioned, acts, fixes, thoughts
therefore, concept, purchasing, leads, unplanned like, we tend to, without, considering why
because, on sale As, effects, shown, influence, purchases
shopping, sees, pair next, decide to buy, moment, why
checks, finds out
thinks that, headphones 3
approaches, get, discount, those Have, ever wondered, you've bought, that, don’t, need
though, discounted, still, buy consider what affects, when, comes to buying
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Why, want to buy what, bought
goes, sees a pair, shoes on display
recognizes, at a glance, more, half, soccer, wear them
Although, already, many pairs, soccer shoes, ends, buying
another
use, bandwagon effect, to explain, behavior
bandwagon, wagon, parade that encourages, to jump aboard,
enjoy
As more, more, get, others, more likely, on, follow
way, tend to buy, just because other, bought
buy, pair, pants, after, have bought, coat
buys a coat that, really loves
Immediately, realizes, pants do, match, new coat
buys, pants that go perfectly with, coat
sees that none, match, clothes, So, buys, bag
Most of, is spent on buying, complete
’ What made, search, new items immediately after buying
effect, may explain, French writer received, gown as, gift
Soon after receiving, noticed, all of, furniture, go, with
ended up replacing most of it
therefore, concept that purchasing, item, leads, more
unplanned purchases
buy, just because, are on sale
goes window shopping, sees a pair, headphones
checks, price, finds out that they are
) thinks that the headphones, too expensive
sales person approaches, can get, percent discount, those
though, discounted price, still not very low, buy
situation described above, an, the, anchoring effect
price mentioned first affects, opinion, mentioned afterwards
if, start with, then, seem, in comparison
Furthermore, as, difference, two prices becomes bigger, effect,
powerful
As such, mentioned, acts, fixes, thoughts, price of, item
like, we tend to, without, considering why, buying them
As these effects, shown, things influence, purchases

next time, decide to buy, moment, why, buying it

4
Have you ever wondered why you've bought things that you
don’t even want or need?
Let’s consider what affects us when it comes to buying things.
Why do | want to buy what my friends bought?
Jeff goes to the shopping center and sees a pair of soccer
shoes on display.
He recognizes the shoes at a glance because more than half of
the boys on his soccer team wear them.
Although he already has many pairs of soccer shoes, he ends
up buying another new pair.

’ We can use the “bandwagon effect” to explain Jeff's behavior.

A bandwagon is a wagon in a parade that encourages people
to jump aboard and enjoy the music.

As more and more people get on the bandwagon, others are
more likely to get on or follow it.

In this way, people tend to buy something just because other
people have bought it.

Why do | buy a pair of pants and a bag after | have bought a
new coat?

Lisa buys a coat that she really loves.

Immediately, she realizes that her pants do not match her new
coat.

So, she buys new pants that go perfectly with her new coat.
But she sees that none of her bags match her new clothes. So,
she buys a new bag.

Most of her money is spent on buying the new items to
complete her new look.

What made Lisa search for new items immediately after
buying a new coat?

The “Diderot effect” may explain it. Denis Diderot, a French
writer, received a new gown as a gift.

Soon after receiving the gift, he noticed that all of his furniture
did not go well with his new gown.

So, he ended up replacing most of it.

The Diderot effect, therefore, is the concept that purchasing a
new item often leads to more unplanned purchases.

Why do | buy things just because they are on sale?

Nathan goes window shopping and sees a pair of headphones.
He checks the price and finds out that they are $200.

He thinks that the headphones are too expensive.

The sales person approaches him and says, “You can get a 20
percent discount on those headphones.”

Even though the discounted price is still not very low, Nathan
decides to buy the headphones.

The situation described above is an example of the “anchoring
effect.”

The price mentioned first affects our opinion of prices
mentioned afterwards.

For example, if we start with $200, then $160 will seem cheap
in comparison.

Furthermore, as the difference of the two prices becomes
bigger, the effect will be more powerful.

As such, the price mentioned first acts as an “anchor” that
fixes our thoughts about the price of an item.

Just like Jeff and his friends, we tend to buy things without
seriously considering why we are buying them.

As these effects have shown, many things influence our
purchases.

The next time you decide to buy something, think for a

moment about why you are buying it.
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Have you ever wondered why you've bought things that you
don’t even want or need?
Let’s consider what affects us when it comes to buying things.
Why do | want to buy what my friends bought?
Jeff goes to the shopping center and sees a pair of soccer
shoes on display.
He recognizes the shoes at a glance because more than half of
the boys on his soccer team wear them.
Although he already has many pairs of soccer shoes, he ends
up buying another new pair.
We can use the “bandwagon effect” to explain Jeff's behavior.
A bandwagon is a wagon in a parade that encourages people
to jump aboard and enjoy the music.
As more and more people get on the bandwagon, others are
more likely to get on or follow it.
In this way, people tend to buy something just because other
people have bought it.
Why do | buy a pair of pants and a bag after | have bought a
new coat?
Lisa buys a coat that she really loves.
Immediately, she realizes that her pants do not match her new
coat.
So, she buys new pants that go perfectly with her new coat.
But she sees that none of her bags match her new clothes. So,
she buys a new bag.
Most of her money is spent on buying the new items to
complete her new look.
What made Lisa search for new items immediately after
buying a new coat?
The “Diderot effect” may explain it. Denis Diderot, a French
writer, received a new gown as a gift.
Soon after receiving the gift, he noticed that all of his furniture
did not go well with his new gown.
So, he ended up replacing most of it.
The Diderot effect, therefore, is the concept that purchasing a
new item often leads to more unplanned purchases.
Why do | buy things just because they are on sale?
Nathan goes window shopping and sees a pair of headphones.
He checks the price and finds out that they are $200.
He thinks that the headphones are too expensive.
The sales person approaches him and says, “You can get a 20
percent discount on those headphones.”
Even though the discounted price is still not very low, Nathan
decides to buy the headphones.
The situation described above is an example of the “anchoring
effect.”
The price mentioned first affects our opinion of prices

mentioned afterwards.

=

For example, if we start with $200, then $160 will seem cheap
in comparison.

Furthermore, as the difference of the two prices becomes
bigger, the effect will be more powerful.

As such, the price mentioned first acts as an “anchor” that
fixes our thoughts about the price of an item.

Just like Jeff and his friends, we tend to buy things without
seriously considering why we are buying them.

As these effects have shown, many things influence our
purchases.

The next time you decide to buy something, think for a

moment about why you are buying it.
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Although he already has many pairs of soccer shoes, he
ends up buying another new pair.

I should have checked the sales before buying mine.

Let's consider what affects us when it comes to buying
things.

The situation described above is an example of the
“anchoring effect.”

A bandwagon is a wagon in a parade that encourages
people to jump aboard and enjoy the music.

Have you ever wondered why you’ve bought things
thatlwhich] you don’t even want or need?

What made Lisa search for new items immediately after
buying a new coat?

He recognizes the shoes at a glance because more than
half of the boys on his soccer team wear them.

Most of her money is spent on buying the new items to
complete her new look.

The next time you decide to buy something, think for a

moment about why you are buying it.
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about being in the space station?

W: | could see a beautiful sunrise 16 times a day. It was great.
ﬂ§| p.20 M: Is it possible to see the sunrise several times a day in
OASSICE, Z1Thict = 2 St
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0<[>':01 QT TSIt el W: Yes, it’s possible because we moved around Earth every 90
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71%2 % M e 50 minutes in the station.
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EPEH'r Hrpat St @80 M: Wow, that’s amazing!
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- N = M: Irene, what was the best food you ate in the space station?
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= o ) = © in special bags. The bags helped the roots to grow.
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M: How interesting!
unstable attach

M: Have you heard that NASA is going to send a 3D printer
passenger researcher - ,

into space?
universe astronaut

W: They're going to send a 3D printer into space? Why?
theor fold

¥ M: I've heard that the 3D printer will be used to print out food
dot exist
for astronauts.
ravit instantl . . . . -
g ¥ ¥ W: Is it possible to print out food using a 3D printer?
shortcut celebrate . . < ; :

M: Yes, it’s possible. It can print out a fresh pizza in less than
exploration flat P
surface lanet ‘ ; ;

. P W: Really? | wonder what it would taste like.
entirel tough . .

ety us M: Look at these colorful pictures of the universe.
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o B ( =) ~2 =it W: Oh, they're beautiful. | wish | could see Earth from space
241010 EhA .
R ! with my own eyes.
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AR ZYLICH o2 RZfe 2 BAX|CH Center
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M: Yeah, you can use the VR glasses. | heard that you feel like
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back, favorite, times, day, possible to, possible, every, minutes

best, ate, grew, ate, it possible, Since, gravity, helped, How

heard, send, used to, astronauts, it, to, possible, less than,

wonder what

colorful, universe, wish, could see, Actually, do, heard, feel
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you are actually in space!

What are you watching?

*I's a documentary about life in space. Everything seems

so different.

> Yes, it’s because there’s no gravity in space.
: Right. | wish | could float around like an astronaut!

> Really? | don’t. It looks uncomfortable.

Look at this man, Jake. He lived in space for one year.

: It must have been tough for him.

- Right, but you know what’s interesting? He grew 2 inches

while in space.

like M: Really? How is that possible?

What, watching, Everything seems, no gravity, float around, W: I'm not sure, but maybe it's because there’s no gravity in
looks uncomfortable space.

lived, for, must, tough, grew, while, possible, no gravity, wish, M: That’s so cool. | wish | could live in space. That way, | could

could, ways, taller

top, wish, real, flying, wish, could, entirely impossible, it,

possible, physics, create

become taller.

2 I'm sure there are other ways to become taller than going

to space.
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W: Hello, everyone, welcome to All about Movies! Today, we’re
going to talk about the top three things from movies that
we wish were real.

M: Let’s start with number three, the flying skateboard from
Back to the Future.

W: It's a cool item. | wish | could have a flying skateboard.

M: Actually, | read somewhere that this is not entirely
impossible.

W: Really? Is it actually possible to fly on a skateboard?

M: Yes. Some companies have applied physics to create flying

skateboards.
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fans, talk, space

As, nothing, universe

speed, able, another, blink
would, that, possible

headed, planet, one-half, light
get, quickly, right

sleep for, expected, take that
time, there, travel through
order, like, apple, second
Imagine, detects, sweet, bottom, from
surface, as, universe

either, outer, or

Which, would, because, shortcut
such, shortcut, universe
According to, out, connected, called
could, be bent

bent, far, each, closer

take, dot, top, another, bottom
flat, dots, another

take, fold, matched

hole, instantly connected

Like, may, throat connecting
like, apple, right

existed, get, billions, away
too, to, only

all, find one

if, are, consider, through

be, unstable, broken, pieces
not, pretty, hopeless

through, simply, that, exists
say so, debate, ongoing, how
back, achieved, things, first
Who, be, find
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science fans, going, talk about
As, there is nothing, than
travel, speed, should, able, blink, eye
would, vast that, not possible
movie, headed, different, one-half, speed, light
get, another, very quickly, right
passengers, for, is expected to, that, time
long time, there, faster, travel through
order to answer, like, apple, second
Imagine, worm, detects, sweet, bottom, from, top
For, surface, as vast as
can either move around, wormhole
Which, think, choose, would, because, shortcut
there such, shortcut, universe
According to, researchers, figured out that, time, called
thought, space-time could, be bent
bent, parts, far away, each, closer
To understand, take, make, dot, another, bottom
sheet, dots, away, one another
take, fold, with, dots, up
hole, paper, dots, instantly connected
Like, may contain, mouths, with, connecting
like, wormhole in, apple, right
such, existed, get, places billions, away
too, to celebrate, exist, only
all we, is find one
Even if, there are, consider, through
would be, unstable, flew into, broken, pieces
That’s not, pretty, So, hopeless
traveling, through, simply, that, exists, theory
wouldn’t, debate, wormholes, still ongoing, eventually, how,
through
back, achieved, things, seemed impossible, first

Who knows, can, the one

3
science, we're going, talk about space travel
As, there is nothing faster than light
travel, speed, should, able, another, blink of, eye
would be nice, space, so vast that
spaceship headed, different planet travels, one-half, speed,
light
get to, planet very quickly, right
passengers sleep, because, is expected to, that, get to
years, long time, there, faster way, travel, space
in order to answer, question, think, for, second
worm, It detects something sweet, bottom, move from, top,

bottom



For, worm, surface, as vast as, universe

can either move around, layer or down

Which, think, choose, would choose, wormhole because,
shortcut

Is there such, shortcut, the universe

some researchers, figured out, space, time are connected, he
called

thought that space-time, actually be bent

parts that, far away, each other, suddenly closer

take, sheet of, make, dot, top, another at, bottom

flat sheet, dots, far away, one another

take, fold, with the dots matched up

Punch a hole, paper, dots, be, connected

Like this, wormholes, may contain, with, throat connecting
Just like a wormhole in, apple, right

such, existed, space, get, places billions, light-years, quickly
too early to celebrate, exist, theory only

all, need to, is find one

Even if, there are many, consider, going through one

be, unstable, flew into, might be crushed, broken, pieces
That's, pretty picture, So, are we hopeless

traveling, through, wormhole simply, idea, exists in theory
debate, still ongoing, persistent exploration, believe,
eventually, how to, through

Look back, achieved, that seemed impossible at first

Who knows, Maybe, be the one, find
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Hi, science fans. Today, we’re going to talk about space travel.
As we all know, there is nothing faster than light in the
universe.
So, if we travel at the speed of light, we should be able to get
to another planet in the blink of an eye, right?
That would be nice, but space is so vast that it is not possible.
In the movie, Passengers, a spaceship headed to a different
planet travels at one-half the speed of light.
So it should get to another planet very quickly, right?
But, the passengers sleep for 120 years because it is expected
to take that much time to get to a different planet.
Wow, that's a long time! Is there a faster way to travel through
space?
Well, in order to answer that question, I'd like you to think
about this apple for a second.
Imagine a worm is on this apple. It detects something sweet
at the bottom and wants to move from the top to the bottom.
For the worm, the apple’s surface is as vast as our universe.
Now the worm can either move around the outer layer or down

awormhole.

Which do you think it will choose? Well, it would choose the
wormhole because it is a shortcut.

Is there such a shortcut in the universe?

According to some researchers, yes. Einstein figured out that
space and time are connected, and he called it space-time.

He thought that space-time could actually be bent.

When it is bent, parts that are far away from each other are
suddenly closer.

To understand this, take a sheet of paper and make a small
dot at the top of the paper and another at the bottom of the
paper.

On a flat sheet of paper, the dots are far away from one
another.

Now, take the paper and fold it with the dots matched up.
Punch a hole in the paper and the dots will be instantly
connected.

Like this, wormholes in space may contain two mouths, with a
throat connecting the two.

Just like a wormhole in the apple, right?

If such wormholes existed in space, we could get to places
billions of light-years away quickly!

Yes, but it’s too early to celebrate. Wormholes exist in theory
only.

So all we need to do is find one, right?

Even if we find one, there are many things to consider before
actually going through one.

A wormhole would be very unstable. If a spaceship flew into
one, it might be crushed or broken into pieces.

That’s not a pretty picture. So, are we hopeless?

Is traveling in space through a wormhole simply an idea that
only exists in theory?

I wouldn’t say so. The debate about wormholes is still
ongoing, but with persistent exploration and research, |
believe we will eventually find one and learn how to travel
through it.

Look back at our history. We've achieved so many things that
seemed impossible at first.

Who knows? Maybe you can be the one to find the answer!

5

Hi, science fans. Today, we’re going to talk about space travel.
As we all know, there is nothing faster than light in the
universe.

So, if we travel at the speed of light, we should be able to get
to another planet in the blink of an eye, right?

That would be nice, but space is so vast that it is not possible.
In the movie, Passengers, a spaceship headed to a different

planet travels at one-half the speed of light.
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So it should get to another planet very quickly, right?

But, the passengers sleep for 120 years because it is expected
to take that much time to get to a different planet.

120 years? Wow, that's a long time! Is there a faster way to
travel through space?

Well, in order to answer that question, I'd like you to think
about this apple for a second.

Imagine a worm is on this apple. It detects something sweet
at the bottom and wants to move from the top to the bottom.
For the worm, the apple’s surface is as vast as our universe.
Now the worm can either move around the outer layer or down
a wormhole.

Which do you think it will choose? Well, it would choose the
wormhole because it is a shortcut.

Is there such a shortcut in the universe?

According to some researchers, yes. Einstein figured out that
space and time are connected, and he called it space-time.

He thought that space-time could actually be bent.

When it is bent, parts that are far away from each other are
suddenly closer.

To understand this, take a sheet of paper and make a small
dot at the top of the paper and another at the bottom of the
paper.

On a flat sheet of paper, the dots are far away from one
another.

Now, take the paper and fold it with the dots matched up.
Punch a hole in the paper and the dots will be instantly
connected.

Like this, wormholes in space may contain two mouths, with a
throat connecting the two.

Just like a wormhole in the apple, right?

If such wormholes existed in space, we could get to places
billions of light-years away quickly!

Yes, but it's too early to celebrate. Wormholes exist in theory
only.

So all we need to do is find one, right?

Even if we find one, there are many things to consider before
actually going through one.

A wormhole would be very unstable. If a spaceship flew into
one, it might be crushed or broken into pieces.

Ouch! That’s not a pretty picture. So, are we hopeless?

Is traveling in space through a wormhole simply an idea that
only exists in theory?

I wouldn’t say so. The debate about wormholes is still
ongoing, but with persistent exploration and research, |
believe we will eventually find one and learn how to travel
through it.

Look back at our history. We've achieved so many things that
seemed impossible at first.

Who knows? Maybe you can be the one to find the answer!
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If a spaceship flew into one, it might be crushed or broken
into pieces.

In the movie, Passengers, a spaceship headed to a
different planet travels at one-half the speed of light.

He thought that space-time could actually be bent.

Like this, wormholes in space may contain two mouths,
with a throat connecting the two.

Even if we find one, there are many things to consider
before actually going through one.

It detects something sweet at the bottom and wants to
move from the top to the bottom.

Now, take the paper and fold it with the dots matched up.
That would be nice, but space is so vast that it is not possible.
Now the worm can either move around the outer layer or
down a wormhole.

If such wormholes existed in space, we could get to places

billions of light-years away quickly!
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Some of the apples were rotten. @ @
As you work more, you make more money. @
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more than half of the boys on his soccer team wear them
@ @ ® @

The price mentioned first affects our opinion of prices

mentioned afterwards.
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